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35 1 35
_Tl::;tal 20 390
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The Corteriy of. 100  aratchibotey weve chacked o

No. of 35 36 37 38 39 ‘ 40 41
matches
No. of boxes b i 18 25 i 12 B
|

L) CD}CMI.&E,; Cﬂ'f‘i?_ﬂ{" 40 oe Ekdm&@ {ﬂﬂfﬂ“ He neon nc‘#:
motchel pey box - |

(1) Delermine how Lve Tatvee Pxdelied A have o ™
odded 4o the. total Cocterlh o he 1o

: ™ to enackly 3
No. of matches No. of boxes

(x) % @&

|

666
950

(f
35 b \ 210
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Coleuwlale He mean Lov the —Gbﬂﬂu:ﬁfa Aigtn ution :

Pocketmoney(inks) | 60 70| & 00 00 | w0 | 12

No. of students 2 b 13 2 24 10 3
Pocket money (in Rs.) No. of
(x) students fx
(f)
60 2 120
70 66 420
80 \Cbs. 1040
90 ® ﬂ 22 1980
100 @ 24 2400
110 b 10 1100
3 360
tal 80 7420
Hean = 2.8 - 4= - 939.7%
21 &0

Sin coimk  were tdAed 1000 timeg, ond af oaeh g
the no-g heods were  Cowdd  te veAuth  were
Yetovded ot Luwded




No. of heads b 5 4 3 2 1 0
No. of tosses 20 25 160 263 338 140 34
Calcalale the menn ~Br 4hig  distibukion.
No. of heads No. of tosses
(x) (f) fx
6 20 120
5 25 @ 125
+ 160 .c 640
3 849
2 ® % 38 676
1 x 140 140
0 34 0
T 1000 2550
Meow = -ﬁ_ﬁ e 2550
3.4 m = & 3%
find Mo weon Hov Anig  dishibution:
Numbers 60 61 62 63 64 65 66
CumuI;tive 8 18 33 40 49 55 60

frequency
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Numbers Cumulative frequency
(x) frequency f fx
cf.
60 8 8 480
61 18 10 610
62 33 15 930
63 40 7 441
64 49 9 576
65 55 5 390
66 60 A 330
Total 3757
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Category Wages (in Rs.) No. of fx
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f
A 50 2 100
B G0 4 240
H 70 8 560
D 80 12 ' 960
B 90 10 900
F 100 6 600
G 110 880
Total c@ 4240
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Variate 5 b 1 B 9 10 1 12
Frequency il 17 10 8 b 1 b
Variate Frequency L x
(x) (f)
5 20 %
6 17 Q 102
7 f ? i3
8 \é} 80
9 P % 72
10 x 60
11 @ 7 77
12 6 72
T4+f 563 +7f
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Marks 0-10 |10-20  |20-30 [30-40 40-50

No. of candidates 8 14 13 10 5

s @
Marks Class Mark NnG tes
X Q X fx
0-10 5 (b‘ 8 40
10-20 ° S\ 14 210
20-30 x 13 325
30-40 QES 10 350

40-50 45 5 225
Tn& SU 1150
Hw i __2_‘{1’1_ 2 110 . i%




Qb- Find tho woan & e *Foifm'r?ﬁ dighribution

(lass - intervals | 0-10 10-20 | 20-30 30-40 40-50
Frequency 10 b 8 12 5
gel . Class Frequency Class Mark
() &

A
0-10 10 & 50
10-20 6 0 90
20-30 8 Q; 25 200
30-40 Cb‘ 35 420
40-50 i‘\ﬁ 45 225
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Tha. %uawmtﬁ disvibution o morks obkeined oy
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Marks 0-8 |8-16 16-24 24-31 32-40 40-48

students 5 3 10 16 4 2
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Marks No. of students Class Mark

f X fx

0-8 5 4 20

8-16 3 12 36

16-24 10 20 200

24-32 16 28 448

32-40 4 36 144

40-48 2 44 88

Total 40 936
Arithmet’c Miom = ‘%‘?‘ . ﬂ%&g 4

0 Srequancy ditvibukion, .

Class -intervals | 0- -100 100-150 | 150-200 200-250 250-300
Frequency e 8 16 13 6 3
Class -inta Frequency Class Mark fx
0-50 4 25 100
50-100 8 75 600
100-150 16 125 2000
150-200 13 175 2275
200- 250 6 225 1350
250-300 3 275 825
Total 50 7150
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Weight (in gms)

80-84

85-89

90-94

9%-99 | 100-104

105-109

10-114

No. of eggs

5
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12

12 §

2
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Colewlale  Aheivy rreow kﬂi‘ahF to M&\I—amm
T let  astumed  Meoun(A) - cﬁge

Weight (in gms) No. of eggs ark “1=ﬂ
h

( X fu,

:1 (%)
80-84 Q 6 82 -3 15
85-89 ° 10 a7 -2 -20
90° 12 9 5 2
0 0

05-99 12 97
1 8

100- 104 8 102
2 4

105-109 2 107
3 3

110-114 1 112
Total 50 -52
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25-30 2 275 -3 4
30-35 1 325 = £
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3
5560 2 575
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Class- intervals | 0-8 16-24 24-31 32-40 40-48
Frequency 10 p 4 2
C e Class Mark Frequency
In:ex X () f.x
0-8 4 5 20
8-16 | 12 3 36
16 =24 20 10 200
24.-32 28 P 28p
32 - 40 36 4 144
40 - 48 44 2 88
24+p 488 + 28p
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The following disttibution  Shews c:[m[d poxe b
allbwant - a ckilden of a log The  Wieay
bocker allowonte i, Re (8. —Qit vldue 4 4

Daily pocket allowance (in | 11-13  |13-15 - 719 |19-21 Ilt_'a k 23-25
Rs) L
No. of children 3 x 15 f 5 4
Class Class Mark Frequency
lnt& X (f) fx
11-13 12 3 36
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21=123 22 5 110
23-24 24 4 96
40 +f 704 + 20f
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= a2 = b
3 £ =3
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Qum 6\. all e ’QYL%ALYW W \0. Lind Hne. VQQ-uUs es»
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Class intervals 0-20 |20-40 4 60-80 80-100
Frequency 17 P q 19
‘E_C
Class Class equency

Interval & () f.x
0- % L0 17 170
20 - 40 30 p 30p

40- 60 50 32 1600
60- 50 70 q 70q
80 - 100 90 19 1710

68+p+q 3480 +30p+70q
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Sum & all "ﬂwke.ntiu iy \ao

— &3~ P4y < L 20 E*W - 5g ey
Hean = 247 _ 2480+ 3op--oy,
=5 6%+ P49, = A8
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The waan o tha
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Class -20 | 20-40 | 40-60 60-80 80-100 100-120

Frequency 7 P 12 q 8 5




Class Class Frequency

Interval Mark (f) fx
X
0-20 10 7 70
20 - 40 30 p p
40- 60 50 12 600
60- 80 70 q 70q
80 - 100 90 8 720
100 -120 110 5 550
32+p+q 30p+70q

Surmn of. ol Lyeapendiag ¥ 50 Q

S B2 pay = Ww:t%

Nous  pYoCeed ag K

The_ —'?o\’mm'ma '\w the  life Hime |q oy 4

- o Coxkoin  make

100 eleckaici kﬂ%

Life time No. of tubes
Less t 8
Less than 100 23
Less than 150 55
Less than 200 81
less than 250 93
Less than 300 100

Fiod the  meawn Ufe 4imme d mﬂec?&id[%*bubq.
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Life time (in days) ef Frequency Class Mark u=$ fu
(Class intervals) () (x)
B 0-50 8 8 25 - K
50-100 3 15 75 7 o
100-50 55 3 125 = =
0 0
150-200 81 26 175
1 12
200-250 93 12 225
2 14
250-300 100 7 275
Total 100 @
let- astumed  meon Ca) = 15 ‘: = 50
—60_
100

- \1"5 50

Heon = a+h x ﬂ’u 4\‘»‘

U’ﬁﬁa +the
h&*o%mm ,
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L -
oA RV e EEC, et 17
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\

wgé@
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e wean Covvect o are
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om the hix’ro%mm aium we meMnlr Hhe
Wormetion 1o the —Qo\\cmiﬁa “olble

Class -interval Frequency Class Mark (fx)
f) (x)

20-30 3 25 75

30-40 5 35 175

40-50 12 540

50-60 9 Q 495

60-70 4 ® 65 260
Total . % 1545

Moo = 24 - 4681 =468




EXERCTCSE - 93%.-2

g.| A Studert  Scamed he '—?ollbm%ra skl o eAtio ng
g o AueAtion mpexi 3, 4, 1,9, 5,6,1, 2,9 5,7
Find the  medion mosks .
ad- #\f'rar‘@n% 0 the cw:ud;ﬂa oder 1,92, 1.4, = b
7,71, 8
Heve. D= || fe.. ocH
iddle te R
The middle term =B H;_‘I = -ﬁ.'e&'_b% derm
Hediony = & 3
92 o Fird o meclion & the 4ol@MA set o umionry.
Q,D; argr 5! :%F‘S-f Lt/l_f ‘S’ a‘f._i
W) for the Hollowing  Setdd Bawrlcers, , ind the mrecliany .
0,75,3, 8,17, 9L 4B 12, 47, 9 and 15
P

@?ﬁﬁﬁ“‘aﬁﬂa 0 @&t&f‘é‘—{!"ﬁ ovclr o |, 2, 9 3.6,5,5,7,8,9
Heve D= 18 Wwhich ig even

Medion = —5@% 4 (2P erm]
D25 g
= g[eh+r®)
= "3‘” l—t+'3]
= H.5

o) ﬁfmnéh% +he %Nu‘} NuMbers  ascend ovday
rﬁ;l-r-'l.rqlf ED/ l'&f's-.-’ "-..I,-" ﬁj; q"-'f u%f’ TS

s 8l
Hove n=lg  whidhh oy eULY)

Hedian - Wean "‘ri[*aﬁ'*@‘m* @;gl'f')m *E-frr:;:}
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= Mean 4. gt and 7" derm

= 1S+17
2

= kg,

L 25,00, %, 14 ,1b, 1%, 20 are in a%candfna owder and

Heiy  median 1y 12, Coledlale He  mumevicad ualug 9
*

2,%,10, A 14, 16,18, 30 arve in a.!,ce.ndir% ovdey
ord dhely  pedion =13

e, n=g which i even &
Medion = & f_g_"h term -t@%ﬂ)%"ﬁ‘@

AL (e

. %W“*f—".“”%&m?

= ,'l_aCﬂ. x

“}%"ﬁ_l D Kty =26 2 w=lo

Gﬂm{&\m noond 4he  medion o the Mume A |
QII,DHE, f&/"‘lfﬂ,—-g-

ﬁm'ﬂclr% o aztﬂ-fﬂfva owder W 0,1, 2,2,3.%2.6,S
Meve 0210 which W even
Meany = 4 (€% = L (ol A+ 24243434304 4 -;-;)
= B () =2y
Hedion = %f%ﬁ‘*ﬂm "+ qu_)ﬁ %mm]
F(sHaph derm )y :

éCaﬁra} - a5
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Sol -

Colenlate “Hhe  weon omd g wediow o the Numbeyg
,9,10,%,2,4,6,3,9-1,5,6,2 ¢
b::-;-iti‘ra ! a!;f‘endq'vﬁ adey
WV, 4.6,.64,5.0,%,9,9,100
Here N=14 Which i3 even

) Mean = 2N i—#(\*‘-l’c—&"ﬁ' Q4B A4 Gt bt G540+ B4 9410)
r

N - i
_Eggaa—_j& = 48b

(W Hedion = :&"-_ [ %ﬁﬁrm +L-E+r:)+h‘{ﬂ"““}]
[ A (\ié{w l)ﬁ*;m]

| th
5{"1 term +B JO‘—‘-””]
-+ (uty) =
-Thé';. eom Ei._ "H“)g mm“f'; 1:1; "":5/ 5;{,1-,.*[’ ;,'L M. "'Ih—w_,_

Durmloeth 3.2/ L 3RS B have mean o) and medlia
q Lind (0P Y U The weon o P ond o

= - 1.&)“{'-&-5&3—}{{,{-_{;’. . _gltf_ -4
b b
Meon 4 8. 9 4,2,2.%.P ik m~|

1 - Bro4lia+d42a
1
=) I—P"T? e =0 i
S =3 D P 4

() Now medan o 3.2, 4,2, 3,3,.4
miwna them 19 flkﬂtndﬁﬁ Ovdey 2,3, 3, 5,3, By
Here n — 7 Ldmttﬁi it DCH

H



(D Heon C Pr:a'nd N %1(%1“3_) = &GS

Fird He medion Gy te -ﬁ)\\mﬂ;"a distrilbution

Wages per day (in rupees) 38 45 48 55 62 65

No. of workers 14 8 7 10 [ 2

mﬁﬁnﬁ\ e didvibukion in mr@ﬁ _g-m,\umgﬂ kable
Wages per day No. of 'kq ek
(in Rs)) é\
38 V} 14

45 Q 8 22
48 7 29
55 10 39
w ‘ 6 45

b5

Hexe W: 1 which @ eodd

e dio \Sax! g
edion = T 41 term Et?_l = &Pderm — g

(- Heve oll dhe Obmexvokiont ~Hom 22 to 29 ave

@M 0 4%)
o Median = 2. 4%




88,

Fird fthe  wedian fov e —?ol‘tamﬁna dixtsioution
Marks 35 45 50 64 70 72
No. of students 3 5 8 10 5 5

mﬁl:ina the distvibubion W Cumulakive r?ro.p,}mncﬁ tolde ¢

Marks No. of students (f? < E!
35 3 3
o
45 8
50 8 16
®
64 x 26
70 Q 5 31
72 5 36

Hove n= FH whieh i even
Hedion = éi[ Zh 4 term +C%’£+tj"’" Herm |
= H(whterm 4 4 derm ]
= 4 C84+by)
Medion.= 64 -



Haykhb Dbkmkﬂﬁ [Oﬂ -0 Smm aye &'qua_r) belowy -

Marks 20 70 50 &0 75 a0 40

No. of students 8 12 18 ] 9 5 12

caleulole e medion  mon kA
(d¥ok Avarpe the Yarialey n o_LCendi-r& mdn‘r)

Avianging  the yosiodTy W ascendi ond in
C . table.
Marks No. of smdenm@ c.f.

[ _J
20 8
40 P %j 20
x 18
6

50 38

60

70 12 56
0 9 65
Q 5 70

Heve n-T0 .ohich W oeven
Hedion — é[lag Hhterm 4 Clgﬁ-uj"" -te:m]
= g [ 35 term + aptderm]

= 4 [ sot 5]

= 5D
(Heve all Hhe obrevvotions from alty 23 all ave eaped to )
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Colenlale Hhe meon and mediar)  {or 4he -ﬁa\lomin%
digtvieution :
Number B 10 15 20 25 30 35
Frequency 1 2 5 6 3 2 1
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Representing the given data in CF table as given below:
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